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4.

Contrassegna solo un ovale.

JQPR - decreased

WAZY - decreases

ZXII - increased

5.

Contrassegna solo un ovale.

WXJO - prevalence

GIOM - prevalent

TAXG - prevail

The implementation of stricter emission standards has significantly _____ the levels of air pollution in urban
areas.

*

Despite the city's efforts to promote public transportation, the _____ of private vehicles continues to
contribute significantly to poor air quality.

*
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6.

Contrassegna solo un ovale.

WPZE - He is not attending the meeting tomorrow.

QXDE - He will not attending the meeting tomorrow.

YHSN - He did not attend the meeting tomorrow.

7.

Contrassegna solo un ovale.

IJZT - In spite of the inherent challenges of analyzing big data, the research team succeeded in identifying
significant patterns.

NENN - Despite of the inherent challenges of analyzing big data, the research team succeeded in identifying
significant patterns.

QBBB - Although the inherent challenges of analyzing big data, the research team succeeded in identifying
significant patterns.

Which of the following sentences has the same meaning as "He will not attend the meeting tomorrow."? *

Which of the following sentences has the same meaning as "Despite the inherent challenges of analyzing big
data, the research team succeeded in identifying significant patterns."?

*
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8.

Contrassegna solo un ovale.

SAFP - have you lived - ’ve lived - for

SLYX - did you live - ’ve lived - for

AWOU - has you lived - ’s lived - since

9.

Contrassegna solo un ovale.

HRPV - Lowering air pollution is vital for enhancing community health.

KFXX - Reducing air pollution has some effect on public health.

ARER - Increasing air pollution is necessary for economic growth.

10.

Contrassegna solo un ovale.

MVIY - has been attempted

GDXH - have been attempted

NEZU - is attempting

”How long ___ here?”. “I ___ here ___ 3 years” *

Which of the following sentences has the same meaning as "Reducing air pollution is crucial for improving
public health."?

*

The challenge of climbing Mount Everest _____ by many, but few have succeeded. *
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11.

Contrassegna solo un ovale.

TSKE - ran into

NQQL - ran over

OWLT - ran out of

12.

Contrassegna solo un ovale.

BBVX - continued / increase

JKAU - continuation / increasing

PGGM - continued / decrease

I couldn't believe it when I ________ my old friend at the airport after so many years. *

While renewable energy sources are being increasingly adopted, the _____ reliance on fossil fuels and the
resulting _____ in greenhouse gas emissions remain major challenges.

*
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13.

Contrassegna solo un ovale.

CEWV - diligent

ZKIW - redundant

EPKP - superficial

14.

Contrassegna solo un ovale.

EVJL - had finished / had

OIEY - had finished / would have

OKAQ - finished / will have

The research team encountered numerous challenges, but their __________ efforts eventually led to a
groundbreaking discovery.

*

By the time she _____ the report, the meeting _____ already started. *
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15.

Contrassegna solo un ovale.

QQOL - processing

OLRX - storage

IXGD - decoration

16.

Contrassegna solo un ovale.

LXKA - fell

ECFB - fallen

KQME - falling

17.

Contrassegna solo un ovale.

ZTHA - The air quality in urban areas has significantly improved over the years.

GQUM - The air quality in urban areas have significantly improved over the years.

MGGG - The air qualities in urban areas has significantly improved over the years.

IoT devices often generate massive amounts of data, which requires effective _____ strategies to manage
and analyze this information.

*

What is the correct past tense form of the verb "to fall"? *

Choose the right one: *
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18.

Contrassegna solo un ovale.

KCCQ - unseen

IYIC - seen

PIOS - visualized

19.

Contrassegna solo un ovale.

AFPC - The air quality in the city has improved significantly; nonetheless, some neighborhoods still suffer from
high pollution levels.

CFOR - The air quality in the city has improved significantly, however some neighborhoods still suffer from high
pollution levels.

TACW - The air quality in the city has improved significantly, so some neighborhoods still suffer from high
pollution levels.

A key aspect of developing effective machine learning models is ensuring that they generalize well to
_____ data.

*

Which of the following sentences has the same meaning as "The air quality in the city has improved
significantly, yet some neighborhoods still suffer from high pollution levels."?

*
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20.

Contrassegna solo un ovale.

AIDM - Monitoring air quality is essential for public health.

XDXM - Monitoring air quality are essential for public health.

TATG - To monitor air quality are essential for public health.

21.

Contrassegna solo un ovale.

SEIL - informed

YNUH - reactive

AZKU - casual

22.

Contrassegna solo un ovale.

ODFI - Even though the project deadlines were tight, the team managed to complete all tasks on time.

ANGQ - Despite the project deadlines were tight, the team managed to complete all tasks on time.

KTAA - Despite of the project deadlines being tight, the team managed to complete all tasks on time.

Choose the right one: *

The ability to process real-time data streams is essential for _____ decision-making in large organizations. *

Which of the following sentences has the same meaning as "Although the project deadlines were tight, the
team managed to complete all tasks on time."?

*
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23.

Contrassegna solo un ovale.

KLUH - had implemented / would be able

WQEB - implemented / would have been able

POWW - had implemented / will be able

Questi contenuti non sono creati né avallati da Google.

If the company _____ a more efficient data processing system, it _____ to handle big data more
effectively.

*

 Moduli
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